B4 4

B )& E BH B4R 5%
AE4S | BRSNS | BE FUBE A RAIES % wiEslRssEn | 0 A

105 (B = AGE) & B AGEIF £ 1000060212 = 484. 88 m DN

204 | (EHFAGEY EEMAGEILFE 1000060211 & 472.92 m DN

303 CBH = ALY & B AGEIF £ 1000060210 = 385.23 m’ DN

504 | (EHEAGEY £ EHAGENLFE 1000060224 5 77.05 m’ £z

505 CBH = HAE) & B AGEIF £ 1000060225 = 82. 43 m £z

AW ABX | 506 | (FHFEAGE) EEHAGEWLF E 1000060226 5 73. 06 m* £ %

#1124 53| 507 (= AGE ) & 5 AE I F % 1000060209 = 79. 63 m’ FE

F202500396 | 1& 105 5 & 4 | 604 | (BEH~HALE) & E AL F % 1000060218 = 84.11 m* FE
EFHXI5EF | 605 | (EH L) BB HAGEWNF % 1000060221 & 97. 34 mr F%

7= 606 CF = AGE ) & 5 AE I F % 1000060219 = 87.71 m FE

607 (3 = AGE ) & 5 AE I F % 1000060220 & 86. 82 m’ FE

704 | (BEHFAGE)Y £ B HAGE W F E 1000060215 5 69. 35 m* FE

705 CBH = GE) & B AGEIF £ 1000073515 & 65. 61 m* £z

706 (B # F= AGE) & B AGEIF £ 1000060217 & 60. 55 m* £z

707 (B F=HGE) & B AGEIF £ 1000060216 = 43. 59 m £z




